5209 E MARG SEATTLE, WA B. Bid Security (T BID BOND 20	ype and Amount)	
NO.: 2 A. OFFEROR MANSON COI 5209 E MARG SEATTLE, WA B. Bid Security (T BID BOND 20t C. Amendmen YES E.	NSTRUCTION CO. SINAL WAY SOUTH A 98134 Type and Amount)	
A. OFFEROR MANSON COI 5209 E MARG SEATTLE, WA B. Bid Security (T BID BOND 20t C. Amendmen YES E.	NSTRUCTION CO. SINAL WAY SOUTH A 98134 Type and Amount)	
SEATTLE, WAB. Bid Security (TBID BOND 20°C. Amendmen YESE.	A 98134 Type and Amount) %	
C. Amendmen YES E.		
E.	BID BOND 20% C. Amendment Acknowledged YES	
LINIT	F.	
PRICE	ESTIMATED AMOUNT	
LS LS		
\$12.80	\$13,012,480.00	
\$13.10	\$12,243,260.00	
\$14.40	\$8,513,280.00	
\$11.70	\$18,889,650.00	
\$12.30	\$20,239,650.00	
\$13.50	\$33,251,850.00	
\$5.20	\$70,200.00	
	\$12.80 \$13.10 \$14.40 \$11.70 \$12.30 \$13.50	

501419-101 NOTE: If more than two offers are received, continue on OF 1419A. Prescribed by GSA-FAR(48 CER)53.236-1 OPTIONAL FORM 1419 (11-88)

ABSTRA	ACT OF OFFERS - CONSTRUCTION		CITATION NUM -14-B-0003	BER	2. DATE ISSUED		DATE OPENED PAGE 2 OF 5			
US Army	NG OFFICE r Corps of Engineers, Phila ıker Building, Room 643		Y that I have op on this abstract	pened, read, and tall offers	Name and title of Certifying Official (Type) Signature Date Signed					
100 Penr	n Square East		received	in response to t	his solicitation.					
	ohia, PA 19107-3390 ECT TITLE						9. OFFE	DC		
S. PROJ	EGI IIILE			OOVEDNIMENT FO	TIMATE	NO.: 1	LB)		I D\	
				GOVERNMENT ES	omplete D, E, and F.)	A. OFFEROR	LD)	NO.: 2 (LB) A. OFFEROR		
COMPLETION OF INITIAL BEACHFILL				A. HIRED LAB			DREDGE & DOCK			
(continued)				B. REASONAE	BLE CONTRACT	B. Bid Security (Type	pe and Amount)	B. Bid Security (Type and Amount)		
6. NUMBER OF AMENDMENTS ISSUED				C. REASONABLE CONTRACT			Acknowledged	C. Amendment Acknowledged		
7A.	7B.	7C.	D.	E.	F.	E.	F.	E.	F.	
ITEM	DESCRIPTION OF OFFERED ITEM	EST.	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED	
No.		QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT	
	Sta. 117+00 to Sta. 383+00 (Continued)									
10	Vehiclar Dune Crossover I-5 Base Material	22,700	S.F	\$7.16	\$162,532.00	\$5.00	\$113,500.00	\$5.75	\$130,525.00	
11	Handicap Accessible Dune Crossover I-5 Base	5,500	S.F	5.29	\$29,095.00	\$5.00	\$27,500.00	\$5.75	\$31,625.00	
	Material									
12	Split Rail Fence	2,800	L.F	\$14.97	\$41,916.00	\$9.00	\$25,200.00	\$9.80	\$27,440.00	
13	Post & Rail Fence	1,700	L.F	\$119.97	\$203,949.00	\$70.00	\$119,000.00	\$77.80	\$132,260.00	
14	4 Dune Grass Planting 18" o.c.		S.Y	\$8.84	\$1,308,320.00	\$4.00	\$592,000.00	\$4.10	\$606,800.00	
	5 Dune Grass Planting 24" o.c.		S.Y	\$5.67	\$413,910.00	\$2.50	\$182,500.00	\$2.60	\$189,800.00	
	Sand Fence		L.F	\$8.10	\$157,950.00	\$8.00	\$156,000.00	\$8.65	\$168,675.00	
17	Stabilization Mat		L.F	\$65.33	\$18,292.40	\$54.00	\$15,120.00	\$59.90	\$16,772.00	
18	Existing Sand Fence Demolition	20,000	L.F	\$3.84	\$76,800.00	\$1.50	\$30,000.00	\$1.75	\$35,000.00	
	Existing Structures Demolition	1	JOB		\$5,094.51	LS	\$3,500.00	LS	\$4,000.00	
	Structure Monitoring	1	JOB	LS	\$139,938.38	LS	\$31,000.00		\$185,000.00	
21	Groin Signs		EA	\$773.36	\$14,693.84	\$129.00	\$2,451.00	\$710.00	\$13,490.00	
22	Groin Signs at Harvey Cedars	11	EA		\$8,506.96	\$129.00	\$1,419.00	\$710.00	\$7,810.00	
	Dune Grass Warning Signs Sta. 443+00 to Sta. 967+00	90	EA	\$576.67	\$51,900.30	\$129.00	\$11,610.00	\$200.00	\$18,000.00	
	Pedestrian Dune Crossover I-5 Base Material	257,000	S.F	\$4.56	\$1,171,920.00	\$4.50	\$1,156,500.00	\$5.20	\$1,336,400.00	
	Vehiclar Dune Crossover I-5 Base Material	98,500	S.F		\$709,200.00	\$5.00	\$492,500.00	\$5.75	\$566,375.00	
26	Handicap Accessible Dune Crossover I-5 Base Material	41,300	S.F	· ·	\$220,129.00	\$5.00	\$206,500.00	\$5.75	\$237,475.00	
	Split Rail Fence	12,000	L.F	\$14.96	\$179,520.00	\$9.00	\$108,000.00	\$9.80	\$117,600.00	
	Post & Rail Fence	12,900			\$1,563,867.00		\$903,000.00		\$1,003,620.00	
	Dune Grass Planting 18" o.c.	415,000	S.Y		\$3,668,600.00	\$4.00	\$1,660,000.00	\$4.10	\$1,701,500.00	
	Dune Grass Planting 24" o.c.	200,000		\$6.06	\$1,212,000.00	\$2.50	\$500,000.00		\$520,000.00	
	Sand Fence 56,00			·	\$453,600.00	\$8.00	\$448,000.00		\$484,400.00	
	Stabilization Mat	2,100	L.F	\$65.33	\$137,193.00	\$54.00	\$113,400.00	\$59.90	\$125,790.00	
	Existing Sand Fence Demolition	53,000	L.F		\$203,520.00	\$1.50	\$79,500.00		\$92,750.00	
	Existing Structures Demolition	1	JOB		\$167,469.07	LS	\$12,000.00		\$14,000.00	
	Structure Monitoring	1	JOB		\$589,784.99		\$145,000.00		\$450,000.00	
	Groin Signs	49	EA		\$37,894.64	\$129.00	\$6,321.00		\$34,790.00	
	Groin Grass Warning Signs	4	EA		\$3,093.44	\$129.00	\$516.00		\$2,840.00	
38	Dune Grass Warning Signs	1,194	EA	\$576.67	\$688,543.98	\$93.00	\$111,042.00	\$200.00	\$238,800.00	

ABSTR	ACT OF OFFERS - CONSTRUCTION		OITATION NUM -14-B-0003	1BER	2. DATE ISSUED		DATE OPENED PAGE 3 OF 5			
	ING OFFICE	WOIZBO	14 B 0000		Name and title of Certifying Official (Type)					
	y Corps of Engineers, Phila			pened, read, and						
	aker Building, Room 643			on this abstrac		Signature		Date Signed		
	in Square East		received	in response to	this solicitation.					
	phia, PA 19107-3390						0.0555	DC		
5. PROJ	JECT TITLE					NO : 4	9. OFFE		'I D\	
				GOVERNMENT E	omplete D, E, and F.)		(LB)	NO.: 2 (LB) A. OFFEROR		
			(Chec	CK A, B or C and C	omplete D, E, and F.)		DDEDGE & DOCK	MANSON CONSTRUCTION CO.		
				A. HIRED LAE	ROR	GREAT LAKES	DILDGE & DOCK			
				,						
(continu	ed)			B. REASONAI	BLE CONTRACT	B. Bid Security (Ty	pe and Amount)	B. Bid Security (Type and Amount)		
	,		X				,		,	
6. NUM	BER OF AMENDMENTS ISSUED		C. REASONABLE CONTRACT (C. Amendment	Acknowledged	C. Amendment Acknowledged		
7A.	7B.	7C.	D.	E.	F.	E.	F.	E.	F.	
ITEM	DESCRIPTION OF OFFERED ITEM	EST.	UNIT	UNIT	ESTIMATED	UNIT	ESTIMATED	UNIT	ESTIMATED	
No.		QUANTITY		PRICE		PRICE	AMOUNT	PRICE	AMOUNT	
	TOTAL EST BASE BID (1 THRU 38) AMOUNT:				\$127,319,658.07		\$128,169,974.00	1	\$130,963,908.00	
	OPTION BID ITEMS:									
	Sta. 117+00 to Sta. 207+00:	400.000	0.14	00.75	#07F 000 00	#0.0F	#00F 000 00		Φ4.450.000.00	
	Option 1 - Beachfill	100,000			\$875,000.00	\$6.65	\$665,000.00		\$1,150,000.00	
	Option 2 - Beachfill	50,000			\$437,500.00	\$6.65 \$6.65	\$332,500.00		\$575,000.00	
41	Option 3 - Beachfill Sta. 301+00 to Sta. 383+00:	25,000	C.Y.	\$8.75	\$218,750.00	\$6.65	\$166,250.00		\$287,500.00	
12	Option 4 - Beachfill	100,000	C.Y.	\$10.35	\$1,035,000.00	\$6.75	\$675,000.00		\$1,180,000.00	
	, ·			\$10.35	\$517,500.00	\$6.75	\$337,500.00		\$590,000.00	
	Option 6 - Beachfill	50,000 25,000			\$258,750.00	\$6.75	\$168,750.00		\$295,000.00	
"	Sta. 443+00 to Sta. 523+00:	20,000	0.1.	Ψ10.00	Ψ200,700.00	φο.7 σ	Ψ100,100.00		Ψ200,000.00	
45	Option 7 - Beachfill	100,000	C.Y.	\$9.59	\$959,000.00	\$6.90	\$690,000.00		\$1,280,000.00	
	Option 8 - Beachfill	50,000			\$479,500.00	\$6.90	\$345,000.00		\$640,000.00	
47	Option 9 - Beachfill	25,000	C.Y.	\$9.59	\$239,750.00	\$6.90	\$172,500.00		\$320,000.00	
	Sta. 570+00 to Sta. 680+00:									
	Option 10 - Beachfill	150,000			\$1,968,000.00	\$7.80	\$1,170,000.00		\$1,582,500.00	
	Option 11 - Beachfill	100,000			\$1,312,000.00	\$7.80	\$780,000.00		\$1,055,000.00	
50	Option 12 - Beachfill 75,		C.Y.	\$13.12	\$984,000.00	\$7.80	\$585,000.00		\$79,250.00	
	Sta. 680+00 to Sta. 792+00	450.000		040.55	# 4.0 # 0.005.55		0.4.00 0.05.55		A 4 057 500 50	
	Option 13 - Beachfill	150,000			\$1,953,000.00	\$11.10	\$1,665,000.00		\$1,657,500.00	
	Option 14 - Beachfill Option 15 - Beachfill	100,000 75,000		\$13.02 \$13.02	\$1,302,000.00 \$976,500.00	\$11.10 \$11.10	\$1,110,000.00 \$832,500.00	1	\$1,105,000.00 \$828,750.00	
] 33	Sta. 792+00 to Sta. 967+00:	75,000	U. Y.	\$13.02	φειο,ουυ.00	\$11.10	φο32,300.00		φο20,730.00	
54	Option 16 - Beachfill	225,000	C.Y.	\$15.26	\$3,433,500.00	\$13.20	\$2,970,000.00		\$2,745,000.00	
	Option 17 - Beachfill	125,000			\$1,907,500.00	\$13.20	\$1,650,000.00		\$1,525,000.00	
	Option 18 - Beachfill	75,000				\$13.20	\$990,000.00		\$9,150,000.00	
	TOTAL EST BASE BID & ALL OPTS AMOUNT:			\$147,321,408.07		\$143,474,974.00		\$149,486,408.00		
							· ·			

501419-101 NOTE: If more than two offers are received, continue on OF 1419A. Prescribed by GSA-FAR(48 CER)53.236-1 OPTIONAL FORM 1419 (11-88)

ABSTRACT OF OFFERS CONSTRUCTION CONTINUATION SHEET

1. SOLICITATION NUMBER W912BU-14-B-0003

PAGE 4 OF 5

INSTRUCTIONS - Attach this form to OF 1419, Abstract of Offers - Construction, when more than 2 offers are received on a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items which can be entered on the OF 1419. Use additional OF 1419's for contract items in excess of 14 and attach additional Continuation Sheets (OF 1419A) as needed.

				Continuation Sheets (C)F 1419A) as r	needed.					
2. PROJECT	TITLE		OFFERS (Continued)								
						NO.: 4 (LB)		NO.: 5		NO.: 6	
A. OFFEROR					A. OFFEROR	₹	A. OFFEROR	3	A. OFFEROR		
			WEEKS MARINE, INCORPORATED		1						
			304 GAILLE I	DR/INNWOODS BUS							
			PARK, COVINGTON, LA 70433								
			B. BID SECURITY (TYPE AND AMOUNT)		B. BID SECURI	B. BID SECURITY (Type and Amount)		B. BID SECURITY (Type and Amount)		TY (Type and Amount)	
CON	CONTINUED)%							
3.	CONTRACT ITE	EMS	C. AMENDMEN	T ACKNOWLEDGED	C. AMENDMEN	IT ACKNOWLEDGED	C. AMENDMENT ACKNOWLEDGED		C. AMENDMEN	IT ACKNOWLEDGED	
Α.	B. C.		YES								
ITEM	ESTIMATED	UNIT	D. UNIT			E. ESTIMATED		E. ESTIMATED	D. UNIT	E. ESTIMATED	
NO.	QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT		AMOUNT	PRICE	AMOUNT	
BASE BID:											
	1 1	JOB	LS	\$13,450,000.00							
	2 1	JOB		\$1,000.00							
	3 1,016,600	C.Y	\$15.50	\$15,757,300.00							
	4 934,600	C.Y	\$13.50	\$12,617,100.00							
	5 591,200	C.Y	\$14.00	\$8,276,800.00							
	6 1,614,500	C.Y	\$13.00	\$20,988,500.00							
	7 1,645,500	C.Y	\$14.00	\$23,037,000.00							
	8 2,463,100	C.Y	\$17.50	\$43,104,250.00							
	9 13,500	S.F	\$5.00	\$67,500.00							
1	0 22,700	S.F	\$5.50	\$124,850.00							
1	1 5,500	S.F	\$5.50	\$30,250.00							
1	2 2,800	L.F	\$9.00	\$25,200.00							
1	3 1,700	L.F	\$70.00	\$119,000.00							
1	4 148,000	S.Y	\$4.00	\$592,000.00							
1	5 73,000	S.Y	\$3.00	\$219,000.00							
1	6 19,500	L.F	\$8.00	\$156,000.00							
1	7 280	L.F	\$55.00	\$15,400.00							
	8 20,000	L.F	\$2.00	\$40,000.00							
	9 1	JOB		\$5,000.00							
	1	JOB	LS	\$50,000.00							
	1 19	EA	\$650.00	\$12,350.00							
2	2 11	EA	\$650.00	\$7,150.00							
2	90	EA	\$200.00	\$18,000.00							
	257,000	S.F		\$1,285,000.00							
2	98,500	S.F	\$5.50	\$541,750.00							
2	41,300	S.F		\$227,150.00							
	7 12,000	L.F	\$9.00	\$108,000.00							
	12,900	L.F	\$70.00	\$903,000.00							
	9 415,000	S.Y		\$1,660,000.00							
3	200,000	S.Y	\$3.00	\$600,000.00							

ABSTRACT OF OFFERS CONSTRUCTION CONTINUATION SHEET

1. SOLICITATION NUMBER W912BU-14-B-0003 PAGE 5 OF 5

INSTRUCTIONS - Attach this form to OF 1419, Abstract of Offers - Construction, when more than 2 offers are received on a construction project. Each Continuation Sheet will accommodate 14 contract items to conform to the number of items which can be entered on the OF 1419. Use additional OF 1419's for contract items in excess of 14 and attach additional Continuation Sheets (OF 1419A) as needed

				Continuation Sheets (C	F 1419A) as r	needed.						
2. PROJECT T	ITLE			OFFERS (Continued)								
			NO.: 3	(LB)	NO.: 4	(LB)	NO.: 5	•	NO.: 6			
			A. OFFEROR		A. OFFEROR	?	A. OFFEROR	₹	A. OFFEROR			
			WEEKS MAR	INE, INCORPORATED								
				DR/INNWOODS BUS								
				NGTON, LA 70433								
							B. BID SECURITY (Type and Amount)		B. BID SECURI	TY (Type and Amount)		
CONTI	NUED		BID BOND 20					,	BID BOND 20			
3. C	ONTRACT ITEM	/IS	C. AMENDMEN	T ACKNOWLEDGED	C. AMENDMENT ACKNOWLEDGED		C. AMENDMENT ACKNOWLEDGED		C. AMENDMENT ACKNOWLEDGED			
A.			YES						YES			
ITEM	ESTIMATED	UNIT	D. UNIT	E. ESTIMATED	D. UNIT	E. ESTIMATED		E. ESTIMATED	D. UNIT	E. ESTIMATED		
NO.	QUANTITY		PRICE	AMOUNT	PRICE	AMOUNT		AMOUNT	PRICE	AMOUNT		
31	56,000	L.F	\$8.00	\$448,000.00								
32	2,100	L.F	\$55.00	\$115,500.00								
33	53,000	L.F	\$2.00	\$106,000.00								
34	1	JOB	LS	\$15,000.00								
35	1	JOB	LS	\$200,000.00								
36	49	EA	\$650.00	\$31,850.00								
37	4	EA	\$650.00	\$2,600.00								
38	1,194	EA	\$200.00	\$238,800.00								
TOTAL BASE	BID AMOUNT:			\$147,296,300.00								
OPTION BID IT	ΓEMS:											
39	100,000	C.Y	\$11.50	\$1,150,000.00								
40	50,000	C.Y	\$11.50	\$575,000.00								
41	25,000	C.Y	\$11.50	\$287,500.00								
42	100,000	C.Y	\$10.50	\$1,050,000.00								
43	50,000	C.Y	\$10.50	\$525,000.00								
44	25,000	C.Y	\$10.50	\$262,500.00								
45	100,000	C.Y	\$9.00	\$900,000.00								
46	50,000	C.Y	\$9.00	\$450,000.00								
47	25,000	C.Y	\$9.00	\$225,000.00								
48	150,000	C.Y	\$10.00	\$1,500,000.00								
49	100,000	C.Y	\$9.50	\$950,000.00								
50	75,000	C.Y	\$9.50	\$712,500.00								
51	150,000	C.Y	\$10.50	\$1,575,000.00								
52	100,000	C.Y	\$10.50	\$1,050,000.00								
53	75,000	C.Y	\$10.50	\$787,500.00								
54	225,000	C.Y	\$14.00	\$3,150,000.00								
55	125,000	C.Y	\$14.00	\$1,750,000.00								
56	75,000	C.Y	\$14.00	\$1,050,000.00								
				• • • • • • • • • • • • • • • • • • • •								
TOTAL BASE	& ALL OPTION:	S AMOUNT:		\$165,246,300.00								